SoUTToNS => (CORDTNATE G(OHUTRY
RE’NTL W

la) Point= (-5,1)

S\capti"f-‘—? A
E;.Lu(lt'l@ﬁ“-— = m(x-X.)
Y" ﬂ_ _.L( X5
y-1 =_L('_><f5)
" x'l-l x¥  x2



b) Foint=> (-6,2) or (5,“5)

%,c&x&-*-f@hf—"? | é (X~ X)
-5 (X=6)
y,,ﬂ w ”‘iﬂ »\
Y ) = - - QO
I I
=22 = -5X~30

5'x+ll3 -27430=0
5‘31-”3-\-(8 O



d) Point=> (,6)

Slopc:-> Faralle | 4o B thj: n Y

Y@=

= X)
Kspation => y- R 3%;“,1)
1 -6="3%+3
\/(o - O

I



d) Bntr=> (-5,0)

Slope=> Rerpendicular to -2x-Ny¥3=0
- 2%+3=\

=-2)
(=L )

r{/CLJUxCi_\_\ N =) j:é‘ z ;L‘};%‘)(‘x*:i( g )

92 211 *®2
Y,":'- J_X+5.
2 2
Ly = | X+ 5



€) Foint=> %X-int oF M y-intof -3
OR

*(M,0) (0,~3)
Slope=> mMm=y,-
2= X
o4
=23
-4
=9
L._'l
Ecbu&ﬁon => =mx-x,)
:5- =3 (X-4)
NEI Ty
Yot
Hy=3X—12
3: 3*){*'-{3'\2_)



"?) pGiﬁ+:> X-int of 5

(5,0
Slope => Q
uchion => \j— =M X=X,)
e LW e
N = IX— 1O
O:Q‘X""tj-lo



) Point=> -nt of 2)
J k. (0,2.)

Olope=> L
P 2.

Eﬁbuci'ticshf:") = (X=X,)
;ﬁ/ Y2’;“—2':( -0

\/-'2)_..._[_')(
2
{5-‘4 = | X

O= | x- '2431-“{



2. PG5 QG R(5,-6)
Q) Righf Pisector for PA S
©® Hidpoint of PG

Mra™ (%> yrs)

= (-% : _25) 4— PoTNT

@ Perpcndtc_u\(:ﬁ" sope of PQ
Mpg = Y2-Yi
Iy M, = =i 4+— SIoPE
= -5 N
=172,



@) EauaTToN
VY= M)
Py

N -1 =1 ( X+t
> 2-‘-1.’1- h ") 2

y-L= =% -3
. | | 292,
22y —ll=-"4xX -3

2x+225-11+3=0
2:}( + 227—8 =0



b) Altitude From vertex R
O PorNT=> R(5,-6)
@) Ferpendicular Slope of PQ

M = V2=V, _
"Q };{l‘Xt_ m_l.: ﬂ_. ‘4—3@‘36
=65 [ 1
12
= 11
A
=01
3 E@uﬁfic(bu\f )
— = MICA— X
V=T (%-8)
wib o=l | w il % |
b= —1 X+
Y i I | |

Iy +6=~1x+5
| X +1Iy+e6-5=0 X +lIy+G\=0
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¢) Median Hrom vertex Qe

@ Midpoint of PR @) SHoPE of QH
Hew ‘:(11;1.’ 1;; Q X;:-Xlt
- (5;3 ,—Q%S) =‘,;:;.::
- _3_ ._-LL r
h (2-' ) 2..') - e+if
“1-3
i 2
-2 -3
2 4
= 23
-2
=
X
= 23X
2 =93
i . 8
=IC
= -g_'_'_}_ af,—..
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@ EauaTToN [ PornT=(-1,6) 8 (%,%)

= m(x—x.).
J_\‘ "‘_):; X==1)
v - = *2;’1(')“-1)

12 =5 S x5
Vi 6“—931 23

5 5
5\—30"'"2:’)?{ 23
I3IA+EY-D0+23=0
A3+ Y- “1=0C
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3. Solve by graphing:

© x+y ="

\‘I'_: -X+4

m = -1_(dcewn)
I (over)

b=4
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A Bx+y=2C

IX+BY =932

O 3x+y=2
¥'= -3%+2, Sub in@)

@) Dx+5y =2
.Qf*x +5(-¥t'x +‘;S= 23
FA-IDA +10=9 3
- |3Y = Jd3-I0
“\AX=13
- -13
X=-1 Subin(®

O 3x+Yy=2
(_’)(-l);j\kjjib

B Yy
=9+

SokuTTon's (-1,5)

14



5. 95“53 ICI ©
7
5x@ ISX“’S\/-ISQ

O+ |
%%.ZCim\MD

® 5ty-373
©- a3

=3 =7
3=33

SohWTToN S (2,,3)
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